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Marking Scheme — Mathematics (Outside) 65/1, 65/2, 65/3

General Mstructions :

1. The Marking Scheme provides general guidelines to reduce subjectivity in the marking. The
answers given in the Marking Scheme are suggested answers. The content is thus indicative.
Ifa sthdent has given any other answer which is different from the one given in the Marking

Scheme, but conveys the meaning, such answers should be given full weightage.

2. Evaldation is to be done as per instructions provided in the marking scheme. It should not
be dgne according to one's own interpretation or any other consideration — Marking

Schetpe should be strictly adhered to and religiously followed.
3. Alterpative methods are accepted. Proportional marks are to be awarded.
4. Inqugstion(s) on differential equations, constant of integration has to be written.

5. Ifacqndidate has attempted an extra question, marks obtained in the'question attempted

first should be retained and the other answer should be scored out.

6. A fullscale of marks - 0 to 100 has to be used. Please do not hesitate to award full

mark{ if the answer deserves it.

7. Separgte Marking Scheme for all the three sets has been given.
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